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Answer all questions. Show all work for full credit. 

 

1) Find the equation of the line that is perpendicular to 34 += xy and passes through )4,3(− . 

 

2) Solve the following equations and inequaltities: 

a) 1043 ≤+x  

b) 01610 24
=++ xx  

c) 5132 +=+ xx  

d) 502
=

x
e  

e) 1)5(log)2(log 1010 =++− xx  

 

3)  For the function 53)( += xxf  and 2)( 2
−= xxg  

a) Find 
h

xfhxf )()( −+
  

b) Find the inverse of )(xf   

c) Find ))(( xgf o  

 

4) The graph of the function 
975

536
)(

2

2

−+

+−
=

xx

xx
xf  is shown below 

: 

a) What is the domain? 

b) What is the range? 

c) Over what intervals is the function increasing? 

d) Over what intervals is the function decreasing? 

e) For what intervals is 0)( >xf ? 



 

 

5)  Use transformations to sketch the following graphs. Mark on the graph and state clearly the 

horizontal and vertical asymptotes and x-intercept(s) and y- intercept(s)s, if they exist. 

a) 4)( −= xxf  

b) 6
2

1
)( −

+
=

x
xf  

c) xy −
= 2  

d) xy 10log−=  

 

6) Find and state the horizontal and vertical asymptotes and x-intercept(s) and y-intercept(s), if 

they exist. Use these to draw the following graphs. 

a) 24 16xxy −=  

b) 
4

32

−

+
=

x

x
y  

 

7) Use the rational root test to solve the equation 12209)( 23
−+−= xxxxf  

 

8)  Use the given information to find the value of θsin , θcos , and θtan : 

a) The point (-3, -4) is on the terminal side of θ  

b) θ lies in the fourth quadrant and 
5

2
cos =θ  

9)  Sketch the graph of )2sin(3 π−= xy .  State the fundamental interval amplitude, period, and 

phase shift. 

 

10)  Verify the identity xxxx sin)1)(coscsccot( −=+− . 

 

11)  Use the sum formula to find the exact value of 075tan . 

12)  Given that 
4

3
tan =x  and 0sin <x  find the value of the following: 

a) x2cos  

b) 
2

sin
x

 

13)  Find )
3

1
(tan 1 −− . 

14)  Find all solutions to the equation 8sin2 2
=θ . 

 

15)  Sketch the graph of 1
9

)2(

36

)5( 22

=
+

+
− yx

. Find its center, vertices, and foci. 

 

16)  Sketch the graph of 400259 22
=− yx . Find its vertices, asymptotes, and foci. 

 

17)  Find the coefficient of the term 4
x  in the expansion of 7)2( +x  


